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ECONOMICS

Paper : ECO-RG-5016
( Economic Development and Policy in India—I )

( Regular Generic )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oore TR fc Spi Ted i -

(a) Mention one obstacle of economic
development of India.

SAod Ao Trged o1 qrar eE 91 |
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(b)

(c)

@

(e)

(9)
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(2)

What is sustainable development?

Ty T 2

Does education contribute towards
human capital formation?

TR e oS PR SRz Qe ?

Define disguised unemployment.

TR R it fi |

What is the rate of urbanization in
India according to the 2011 Census?

303 9 CAIRPEE 0o SNCS TRI9q T
R 2
In case of size of population, India

occupies the first position in the world.
(Write True or False)

B Sl AL S

S4B FCA |

(351 1 = o)
What is seasonal unernployment?
goore AT & 2

( Continued )

)

()

0

(3)

Write one cause of educated
unemployment in India.

ey fiftrs fReER @Bt PR 4 |
Mention one poverty alleviation measure
of the Government of India.

TS TIPET TRWel PN AR TR 9ol
TR TrEd 491 |

Who prepares Monetary Policy of
India?

SRSS 4 S (T 24FS FCH ?

2. Answer the following questions : 2x5=10

9T

(a)

(p)
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ﬁmmmﬁw

Mention two causes of India’s low
economic grOWth.

s fim SRS fas o1 1T Tewd <=4 |

Write two importances of technology as
a factor of development.

TR R ol ISR o1 gy for |
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()

(d)

(e)

(4)

Mention two causes of urbanization
in India.

SIS A9 Yo1 TR S 9 |

Mention two types of unemployment
found in rural India.

aw SRee (¥l el ‘jﬁ?{ ﬁ'ﬂim SEY
ESIN

Write two causes of low savings in

India.

ST fw 1R o1 P o

3. Answer any four of the following questions :

5x4=20

Tﬁmmﬁ@mwﬁmwm:

\9e\d

(@)

(b)

s for sustainable

Suggest some measure
development in India.
SReq  qETed  GEw T forgae R
S5O |
Explain the relationShip petween capital
formation and development-
o4 515 SE TrpgAd Ao o gl 41 |
( Continued )

(5)

(c) How is population and economic
development related? Explain.

SR o ALefes TAE R TRe ?
T 4T

(d) Write a note on the occupational
structure in the organized sector of

India.
Sqeq TRofde Aed (TR sefg Rea @b
GOt foran |

e) Explain the natur€ " of urban

unemployment in India.
SRwq Fe R 4 0 F
Centre-States financial

() Explain the
relation in India.

et (@ TE PR &ew T IR

41

S

following question
10%x4=40

Answer any fou’ of the

o Tead o :
f Indian
my-

oot o apqcad 1

haracteristics o

(a) Discuss the €
ing ecom?

economy as a develop

( Turn Over )
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(6) (7)

() Discuss the causes of income inequality

SN wdAife  fre SRem  wefed
(aFEPTR el 4 |

in India.

SRS O (AR FEPTR S 4 |

(b) Discuss the causes of low rate of

capital formation in India. | * ik
SReq e o0 PN T FEAPHR S »
®
<911 ‘ :
(c) Discuss the trend of India’s population
growth in the planning period.
AT IS SRST GPRYT a4 {
oAl 941 |
(d) What are the causes of high rate of
population growth in India? Discuss.
Sreq GPRY g OB 278 FRTTR 2
e 41|
(e) Discuss the schemes taken by the
Government  of India to reduce
unemployment.
T ot B Lo B DIMI copra
STz, S # ! R
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